

GENESEE COUNTY ROAD COMMISSION

Serving the motorists of Genesee County for more than 100 years

211 W. Oakley Street Flint, MI 48503-3995 Website: www.gcrc.org

Board meetings: first and third Tuesdays at 10:00 A.M.

Phone: (810) 767-4920 Toll Free: (800) 249-4027

Fax: (810) 767-5373 – Administration Fax: (810) 767-3634 - Maintenance

DATE:

August 30, 2023

TO:

Zito Construction Co.

Rohde Bros. Excavating, Inc. DiPonio Contracting, LLC Fessler & Bowman, Inc.

SUBJECT:

Bid Tabulation

Willard Road Culvert Project GCRC No. 489-98-W50899

Enclosed, for your information, please find the "Itemized Bid" for the project referenced above that was bid upon by your company on August 30, 2023.

Sincerely,

GENESEE COUNTY ROAD COMMISSION

Richard Hill, P.E.

Design Department Manager

Enclosure

cc:

Mary Ann Price - Forest Township

EJ

AP

RH

GG

TK

11

File

Bid Comparison

Contract ID: 98-W50899

Description: Culvert removal, culvert replacement, bag riprap headwall construction, new aggregate road surface, step pool construction

Location:

Willard Road, Forest Township Willard Road at Gibbs Drain

Projects(s): 98-W50899

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$161,249.00	-34.00%	0.00%
1	(02985) Zito Construction	\$244,323.00	0.00%	51.51%
2	(01415) Rohde Bros. Excavating, Inc.	\$338,136.00	38.39%	109.69%
3	(06366) DiPonio Contracting, LLC	\$346,191.00	41.69%	114.69%
4	(00441) Fessler & Bowman, Inc.	\$442,423.00	81.08%	174.37%

Line Pay Item Code	Quantity U	nits	(0) ENGINEER'S E	STIMATE	(1) Zito Construction		(2) Rohde Bros. Ex	cavating, Inc.
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 2030003	1 1	Ea	\$6,500.00	\$6,500.00	\$8,950.00	\$8,950.00	\$32,000.00	\$32,000.00
Culv, Rem, Over 48 inch								
0002 2050016	12 C	Cyd	\$30.00	\$360.00	\$300.00	\$3,600.00	\$110.00	\$1,320.00
Excavation, Earth								

Contract # 98-W50899 (Willard Road, Forest Township Willard Road at Gibbs Drain)

MERL: 2022.11.0

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S E	STIMATE	(1) Zito Construction	1	(2) Rohde Bros. Ex	cavating, Inc.
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0003 2080036	400	Ft	\$3.00	\$1,200.00	\$3.00	\$1,200.00	\$5.50	\$2,200.00
Erosion Control, Silt Fence								
0004 2087050	1	Ea	\$10,000.00	\$10,000.00	\$10,990.00	\$10,990.00	\$11,000.00	\$11,000.00
_ Temporary Channel Diversion								
0005 3067031	170	Ton	\$50.00	\$8,500.00	\$50.00	\$8,500.00	\$44.00	\$7,480.00
_ Aggregate Surface Cse, Modified								
0006 3077031	25	Ton	\$80.00	\$2,000.00	\$50.00	\$1,250.00	\$44.00	\$1,100.00
_ Approach, Cl II, Modified								
0007 4017001	60	Ft	\$950.00	\$57,000.00	\$1,388.00	\$83,280.00	\$2,400.00	\$144,000.00
_ Culv, CSP Arch, CL A, 137 inch by	87 inch, Spec	cial						
0008 4040031	180	Ft	\$15.00	\$2,700.00	\$20.00	\$3,600.00	\$22.00	\$3,960.00
Underdrain, Fdn, 4 inch								
0009 4040091	30	Ft	\$30.00	\$900.00	\$30.00	\$900.00	\$27.00	\$810.00
Underdrain Outlet, 4 inch								
0010 4040111	2	Ea	\$180.00	\$360.00	\$200.00	\$400.00	\$480.00	\$960.00
Underdrain, Outlet Ending, 4 inch								
0011 7060092	256	Lb	\$6.00	\$1,536.00	\$8.00	\$2,048.00	\$11.00	\$2,816.00
Reinforcement, Steel, Epoxy Coated	1							
0012 7062001	7	Cyd	\$700.00	\$4,900.00	\$904.00	\$6,328.00	\$2,000.00	\$14,000.00
Conc, Grade 3500								
0013 8100371	56	Ft	\$15.00	\$840.00	\$30.00	\$1,680.00	\$11.00	\$616.00
Post, Steel, 3 pound								
0014 8100405	12	Sft	\$25.00	\$300.00	\$34.00	\$408.00	\$26.00	\$312.00
Sign, Type IIIB								
0015 8120012	6	Ea	\$130.00	\$780.00	\$250.00	\$1,500.00	\$100.00	\$600.00
Barricade, Type III, High Intensity, D	ouble Sided, L	_ighted,						
Furn 0016 8120013	6	Ea	\$10.00	\$60.00	\$24.00	\$144.00	\$10.00	\$60.00
Barricade, Type III, High Intensity, D	_		¥ 1212 3	,		,	Ţ.5.5 0	,
Oper			l	اا		ا		
0017 8120170	1	LSUM	\$3,000.00	\$3,000.00	\$12,400.00	\$12,400.00	\$35,000.00	\$35,000.00
Minor Traf Devices								

	Pay Item Code ription	Quantity	Units	(0) ENGINEER'S E Bid Price	STIMATE Total	(1) Zito Construction Bid Price	ı Total	(2) Rohde Bros. Ex Bid Price	cavating, Inc. Total
0018 Sign,	8120350 Type B, Temp, Prismatic, Furn	65	Sft	\$25.00	\$1,625.00	\$8.00	\$520.00	\$3.00	\$195.00
	8120351 Type B, Temp, Prismatic, Oper	65	Sft	\$2.00	\$130.00	\$2.00	\$130.00	\$1.00	\$65.00
0020 Sign,	8120352 Type B, Temp, Prismatic, Spec,	24 Furn	Sft	\$40.00	\$960.00	\$15.00	\$360.00	\$7.00	\$168.00
	8120353 Type B, Temp, Prismatic, Spec,	24 Oper	Sft	\$2.00	\$48.00	\$5.00	\$120.00	\$1.00	\$24.00
0022 Ripra	8130010 p, Plain	25	Syd	\$150.00	\$3,750.00	\$225.00	\$5,625.00	\$180.00	\$4,500.00
	8137011 g Riprap Headwall, Special	80	Syd	\$260.00	\$20,800.00	\$488.00	\$39,040.00	\$540.00	\$43,200.00
	8167011 pe Restoration, Modified	250	Syd	\$12.00	\$3,000.00	\$19.00	\$4,750.00	\$15.00	\$3,750.00
	8507051 eam Stabilization, Step Pools, S _l	=	LSUM	\$30,000.00	\$30,000.00	\$46,600.00	\$46,600.00	\$28,000.00	\$28,000.00
Bid T	otals:				\$161,249.00		\$244,323.00		\$338,136.00

Line Pay Item Code	Quantity Ur		(3) DiPonio Contracting, LLC		(4) Fessler & Bown	nan, Inc.		
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 2030003	1	Ea	\$5,000.00	\$5,000.00	\$14,999.75	\$14,999.75		\$0.00
Culv, Rem, Over 48 inch								
0002 2050016	12	Cyd	\$100.00	\$1,200.00	\$70.00	\$840.00		\$0.00
Excavation, Earth								
0003 2080036	400	Ft	\$2.50	\$1,000.00	\$3.00	\$1,200.00		\$0.00
Erosion Control, Silt Fence								
0004 2087050	1	Ea	\$10,500.00	\$10,500.00	\$44,000.00	\$44,000.00		\$0.00
_ Temporary Channel Diversion								
0005 3067031	170	Ton	\$65.00	\$11,050.00	\$55.00	\$9,350.00		\$0.00
_ Aggregate Surface Cse, Modified								
0006 3077031	25	Ton	\$65.00	\$1,625.00	\$60.00	\$1,500.00		\$0.00
_ Approach, Cl II, Modified								
0007 4017001	60	Ft	\$2,800.00	\$168,000.00	\$3,250.00	\$195,000.00		\$0.00
_ Culv, CSP Arch, CL A, 137 inch by	87 inch, Spe	cial						
0008 4040031	180	Ft	\$10.00	\$1,800.00	\$20.00	\$3,600.00		\$0.00
Underdrain, Fdn, 4 inch								
0009 4040091	30	Ft	\$40.00	\$1,200.00	\$25.00	\$750.00		\$0.00
Underdrain Outlet, 4 inch								
0010 4040111	2	Ea	\$100.00	\$200.00	\$335.00	\$670.00		\$0.00
Underdrain, Outlet Ending, 4 inch								
0011 7060092	256	Lb	\$3.00	\$768.00	\$2.25	\$576.00		\$0.00
Reinforcement, Steel, Epoxy Coated								
0012 7062001	7	Cyd	\$2,250.00	\$15,750.00	\$1,360.00	\$9,520.00		\$0.00
Conc, Grade 3500								
0013 8100371	56	Ft	\$10.00	\$560.00	\$11.00	\$616.00		\$0.00
Post, Steel, 3 pound								
0014 8100405	12	Sft	\$25.00	\$300.00	\$28.00	\$336.00		\$0.00
Sign, Type IIIB								
0015 8120012	6	Ea	\$80.00	\$480.00	\$90.00	\$540.00		\$0.00

Line Pay	Item Code	Quantity	Units	(3) DiPonio Contra	cting, LLC	(4) Fessler & Bowm	an, Inc.		
Description	n			Bid Price	Total	Bid Price	Total	Bid Price	Total
0016 8120	0013	6	Ea	\$1.00	\$6.00	\$1.25	\$7.50		\$0.00
	Type III, High Intensity, Do	uble Sided,	Lighted,						
Oper 0017 8120	0170	1	LSUM	\$6,800.00	\$6,800.00	\$50,000.00	\$50,000.00		\$0.00
Minor Traf I		'	LOOW	ψ0,000.00	ψ0,000.00	ψ50,000.00	Ψ50,000.00		ψ0.00
0018 8120		65	Sft	\$3.00	\$195.00	\$3.25	\$211.25		\$0.00
	B, Temp, Prismatic, Furn			*****	7.55.55	73.23	7=1.1.=5		******
0019 8120	0351	65	Sft	\$1.00	\$65.00	\$1.00	\$65.00		\$0.00
Sign, Type	B, Temp, Prismatic, Oper								
0020 8120	0352	24	Sft	\$7.00	\$168.00	\$7.50	\$180.00		\$0.00
Sign, Type	B, Temp, Prismatic, Spec,	Furn							
0021 8120	0353	24	Sft	\$1.00	\$24.00	\$1.00	\$24.00		\$0.00
Sign, Type	B, Temp, Prismatic, Spec,	Oper							
0022 8130	0010	25	Syd	\$140.00	\$3,500.00	\$190.00	\$4,750.00		\$0.00
Riprap, Pla	iin								
0023 813	7011	80	Syd	\$1,100.00	\$88,000.00	\$550.00	\$44,000.00		\$0.00
_ Bag Ripra	ap Headwall, Special								
0024 816	7011	250	Syd	\$12.00	\$3,000.00	\$18.75	\$4,687.50		\$0.00
_ Slope Re	storation, Modified								
0025 850	7051	1	LSUM	\$25,000.00	\$25,000.00	\$55,000.00	\$55,000.00		\$0.00
_ Stream S	Stabilization, Step Pools, S	pecial							<u>.</u>
Bid Totals:					\$346,191.00		\$442,423.00		